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Answer one of the following items 1 iGY 0 200 s e s

(  Find: [x(x-2)"dx i s ) 1J,,_.:i (i)

L™
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@ Find the volume of the selid gencrated by
revolving the region bounded by the two
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@ Answer one of the following items ronaI Y Jd g2 5 i) S
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i a ’
[f-'l]lfy-m I=E , prove that: x :}’-1-2({""") 0

(5) lim (1+ i-)”

X =L

(6) If f(x)=e* ,then f" (X)= mor..
(a) £ (x) (b) 2f(x) () 3f(x) (d) 4f(x)

T
(7) Find the value of:  [2 x sinx dx
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S = E——— — ——
(8) Answer ane of the following items:
a) Find the interval(s) in which the curve of the function f(x) = sin 2x is decreasing,
increasing, convex upward, convex downward also determine the inflection point and
the absolute maximum and minimum values of the function in the interval [0, 27]
b] Find the equation of the cunve of this functiony = f(x).In which the point {0, 0) is an

, . -, , . .
inflection point , ;f_: =ax+ band(-2,16) is alocal maximum point .

(O)If [} ==1,thenk =....
(a)e (b) 10 (c)Inl10 (d) loge

(10} J7_tan®x dx =......

(a) zero (b) o {c) —m (d) 2m

(11) If the pas leaks from a spherical balloon at a constant rate and the length of its diameter
decreased from 22 ecmto 12 cmin 20 second find the rate of change of the its volume when
the length of the radius equals 7 cm.

{12)Find a peint {x, y} on the curve x*+y =100 in which the distance between it and the point

{15, 20} s as small as possible
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(13)If f(x) = log x then f'(x)=.....

(a) 1 (b) 1 (c) B2 (d) —

X xloge

|14) The volume of the solid generated by the revolving of the region bounded by the straight
liney = 2x and the straight line x = 3 a complete revolution about the x-axis is as the
valume of ............

(a) a sphere whose diameter length Is 3 unit
(b} a sphere whose diameter length is 6 unit
(c) a cone of height equals the rad jus of Its base = 3 units

{d) a right cylinder of height equals the radius of its base = 3 units

{15) Answer one of the following items:
{a)Find the area of the region bounded by the curve y = 9 = x? and the x-axis
{b} Find the valume of the solid generated by the revolution of the region bounded by

twocurves: y = x%,y = Jx acomplete revalution about the y-axis

(16) Find% If y = xiInx- x ,then deduce the value ft:nl'j‘;"‘lri,:mcr2 dx

L}

. 1—e™
(17) _L'l‘E.T S
(a) -1 ()0 {e) 1 (d) ¢

{(18) J —dx = ...

(a)InC(l + ™)+ ¢ ) log(l +e*) + ¢

1 . : o R =
() In——+c¢ : Ad) log——+c
r ]
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